10000<Q?%/GeV?
<20000

3550<Q?GeV?
<10000

1780<Q?/GeV?
<3550

1120<Q?/GeV?
<1780

708<Q%GeV?
<1120

447<Q*/GeV?
<708

282<Q?/GeV?
<447

200<Q?/GeV?
<282

150<Q%GeV?
<200

15

0.5

15

0.5

15

0.5

15

0.5

0.100<y<0.200

H1Preliminary

0.200<y<0.400

0.400<y<0.700

0.700<y<0.900

el 1L ]
1'%# = T

05 =S 1
' ' N = T — = :
15 T : - i
Ratio 1 E:E rellres=< — acsmpp i
todata 05| =" 1] ] -
15 T : I
l‘:bi'ﬂfﬂgﬁfﬂff¥gii“;Eiﬁtassgﬁgﬁﬁgﬂr—:Ef&dﬁigg%ﬁé;+%*-
05 T : 1
1.5 | | L—L | 14 | r“L
1-:Eigs:g;£:= ot | sassiatece ot B -
0.5 =+ t T
1.5 L T : :
1 poeesmr ’ :L‘?E':‘ﬁff':“" lg-gaasefﬁ
0.5 - =1 ] ]
_)—I—IL T ‘I__I T I__L T I_O 0.5 é
I""*H;-__;hq—————*J [T T
K ’ :5% ’ i ’ 1 4 H1Data
El&! i s
e » eac o yst. Error
_I ] |__I ] -I__I ] I_ - Pythla 8.3
L | EI | ’L | | — Pythia+Vincia
== ==nining b4 e e peeee — Pyth|§1+D|re
i T T . ] Herwig 7.2




	Contents
	Page 1


